H | 3 | K

A B C D | E | F | G |
NOTES: TESTS PREFORMED: IS g o
WING INDEX: I} THE 1605WDM HAS BEEN TESTEDIN ACCORDANCE WITH THE MIAMI-DADE ~ TASI00 A WIND DRIVEN RAIN RESISTANCE W/ DAMPER | 5| 2| =
| INDEX TO DRAWING AND NOTES. COUNTY PROTOCOLS TAS-201, 202, & 203 FOR LARGE MISSILE IMPACT, TAS-201 LARGE MISSILE IMPACT g1z N
2 1605WDM LOUVER- FLANGE FRAME SLEEVE MOUINT UNIFORM PRESSURE AND CYCLIC WIND PRESSURE. TAS-202 UNIFORM STATIC AR PRESSURE TEST S|4 L 1
) - > | 3
3. 1605WDM LOUVER- CONTINUOUS ANGLE MOUNT TAS-203 CYCLIC WIND PRESUSRE TEST 1o O =
2) THIS LOUVER SYSTEM IS APPROVED FOR APPLICATIONS WITH DESIGN DESIGN PRESSURE RATING 150 PSF
4. 1605WDM / DAMPER- FLANGE FRAME SLEEVE MOUNT x =)
PRESSURES OF +/- 150 PSF OR LESS 2018 IBC &
5. 1605WDM / DAMPER- CONTINUOUS ANGLE MOUNT 5018 IRC — | =
6. 1605WDM LOUVER- FLANGE FRAME SLEEVE MOUNT 3) THIS LOUVER SYSTEM IS NON-BEARING AND IS NOT DESIGNED TO 3o . LO
HEAD & SILL DETAIL WITHSTAND BUILDING DEAD LOADS. s|8| = o
7. 1605WDM LLOUVER- CONTINUOUS ANGLE MOUNT g | LL_:_I_I
HEAD & SILL DETALL. 4) LOUVER ANCHORS ARE REVIEWED FOR ATTACHMENT INTO STEEL, ElEss O |2
8. 1605WDM L. OUVER- BLADE SUPPORT DETAIL. CONCRETE, MASONRY, OR TIMBER SUBSTRUCTURE. MIMIMUM EDGE 55 G N %’ —
9. 1605WDM LOUVER- FLANGE FRAME SLEEVE MOUNT DISTANCE AND EMBEDMENT REQUIREMENTS ARE SHOWN, NAILOR IND. DOES 2l E :
VB DgT AL N M NOT DETERMINE THE STURCTURE INTEGRITY OF THE SUBSTRUCTURE. |3 %
10- 100BNLM | OUVER- CONTINUOUS ARGLE MOURT 51 MAXIMMUM SINGLE SECTION SIZE : 72" WIDE X 120" HIGH, 28
l. |605WDM LOUVER- FLANGE FRAME SLEEVE MOUNT 6] MAXIMUM ASSEMBLED LOUVER SIZE UNLIMITED WIDE X 120" HIGH. MAX. £F8 o
MULLION DETAIIL. MULLION SPACING IS 72" 858 g 3
12. 1605WDM LOUVER- CONTINUOUS ANGLE MOUNT g oZ >
MULLION DETAIL. 3 3o =
3. 1605WDM LOUVER / DAMPER FLANGE FRAME W/ SLEEVE & 5 £g 29
CONTINUOUS ANGLE HEAD & SILL DETAIL. 329 =2 [
4. 1605WDM / DAMPER- FLANGE FRAME SLEEVE MOUNT =8 = =Z
JAMB AND MULLION DETAIL 58 2
5. 1605WDM LOUVER / DAMPER CONTINUOUS ANGLE MOUNT | & =< 4
JAMB AND MULLION DETAIL. 5|ld ==
6. 1605WDM LOUVER W/ AND W/O DAMPER- SLEEVE / iE
CONTINUOUS MOUNT PART PROFILES.
7. 1605WDM LOUVER W/ AND W/O DAMPER- SLEEVE / e
CONTINUOUS MOUNT PART PROFILES. Sxkiz ;.,91.:734}1,?
18. MULLION ANGLES BACK OF WALL MOUNT - %’..-"‘ Hop '~.,<9¢?
19. 1605WDM LOUVER W/ AND W/O DAMPER AVAILABLE SHAPES :5':@? it o Qhi
20. 1605WDM LOUVER W/ AND W/O DAMPER- SLEEVE / CONTINUOUS MOUNT Zu ‘%ENE & ‘%’;gf
BILL OF MATERIAL. %29 31 8 0707
21. 1605WDM LOUVER W/ AND W/O DAMPER NOTES AND FASTENER SCHEDULE. '}((‘%‘9 E§= J{(@'g
l 'uE > a"’ Q &
g x5 1 P
T
S )
«© (]
= N
S &g |
™~ — O
R DAY
& &5
o= 7
&N 839
5 dgb
NADrawing\L OUVERS\AMCAVI 605WDR\I6 OSWDMIIBOSWDM 216 X 120 FL Sleeve_TDIdft ﬁ N a 8 1__._1J
N FIo

A

B

C

-




czfz))
| ﬂ%ﬁmﬂm@_ -

- _ ~ m <
el ANAMGQ9] INNOW 3AFTTS MR

= ool JAVYA FONYTS | S e NG
| 40 ¢ “133HS H3IANOT NAMGO9! |  Wwovk TiEnaNouAE 2

-~
\I.I'l..-.-l..l '.....!" ..l\

JUL |9 5 ..b. "3 ..\..\
SIN J0 B p . WO 10| IDUAMMAM %NN -.o.f & *sn.-s
S 0c0C/c/1 - ALVA | 9soe-065-182 Xv4 2L11-065-182 AL RN Y
) 6E0LL XL UOISNON PooY PIBIUM 1LY -~R_\H e
UDLINCISYN A MHO | SDUILIODY Ag NMC A — ~#ﬁ?ﬂdﬂr.(.().?

11
|

o ﬁ|_
_ ]

Q

v

_ 1] I 1, 35
X | L_ mg .
@ - F @ e
_ | |
| (] } }
1 0 0 1 0 A 0 0 0 1 0 A S WW
B 4
1 AR e
S all-
Nz 1 4
%/l — ] W WH
_r gl Al BB D Eg R | <2
Al i
[ < T oI ﬂ
1HOMEH Y3AN0T VNLOY XYW 000021 W%
1HOIEH 3AFTTIS 40 3AISINO XYW 00002] ~ ) %m
Srook L s

1HOMEH ONINIHO0 H3AN0T

NADrawing\ OUVERSVAMCAI605WDR\ 605WDM\IBOSWDM 216 X 120 FL Sleeve_TDLdft




gy | N
SAWNOo
e NAMGO9| SoRreedty,
o~ S OO....O@
ey ON OMd S0E Tozeeg %% /)
INNOW FTONV SNONILNNOD m.w.m.......:.......:...w.‘.“.
12 40 € 1J3HS H3IANOT NAMG09] g z<o<:.u.m:.m.~.4mw_.»m.m
TUL| G¥L ixz
, . ) Fxk
SIN FWS 0202/2/11'31VA | 980e-065-187 Xv4 Z/I1-065-182 7131 m .. mm -~ S e, .......W&h.
- B804L XL uoisnor pooy peii vizy B -~Eﬂﬁ N
UDLINOISYA ‘A9 WHO | SDUILIODY Ag NMA “ouf seLsNpuf Jojiey ﬁ.—.ﬂ.nﬂr)..f.(.(.(&(

|

CROSS SECTIO

TO 0375

—
L

==
=
et
==

72000 MAX. ACTUAL

LOUVER WIDTH

72000 MAX. ACTUAL

LOUVER WIDTH

—==—125 TYP.

UNLIMITED LOUVER OPENING WIDTH

1HOIEH ONINIHO H3AN0T

_r gl m H_E%EE___IEu_EE__:_E_____EE___E LT A T WW
@l v
3 9 i
- LHOEH HIANOT TVNLOY XYW 000'0Z! um 2

520 0L 70 0L S
——t=—dAL S2I SO &o

NADrawing\L OUVERSVAMCA\I6OSWDR\I605WDM\IBOSWDM 216 X [20 FL Sleeve_TDIdft




A | B | C E G H | J
- >
N (B e (7 o 2l — 2
12 42 N 3le|l o
= | Z
| 2|
" = £ £ = =4 e L
| B ;o L L] slo] @ =
. . | X ()
e  — — © < ; -
2]
HORIZONTAL CROSS SECTION (13 2lg| 1= | WO
= (&N
. \B12Y Sl | O
L : g o)
= | = S

1_ ! L} o “,EJ U |1z
Lo =0 g
L [ B
Se 28

A jeN e}

S
0 55| S = 3
2 G = <t )
e S
e T uN L 2
S = 5 0 Ll 1y
£ 3 23| =2O>1
w o 2 Eg O Z
= m o = N
o3 GHE 0 1 _|
o o3 sl OLlbw
2 W | & AN 4
= o = 5 11l @
i (2] B |
o [N gl = —
o oD O  y
c © = ﬂ§ =
o] ZE %
>
5 = = |
1 88 oo e N é
=) d s " H
g SRzl
% 0 (” /p I AN (X
1 S5 12F N N
guf, = VTN
2ol Migi g oiggit o
%ot i8S Gize O T
it aye 8 ([SFi®F:1
G g3 -8 ]

- AR izi Viog X
Lo A ek -"o-""ﬁ
0 0% e e

3 Il‘p °‘-..":>_;-_,.u"°o<( iy
Qo Ill Kyrme o ‘:5?

o 111 B 5 antse
g — T
| | °
! t L
—-{=—.156 ] i ——=— |56
<— 36,000 MAX. ACTUAL 36000 MAX. ACTUAL 36,000 MAX. ACTUAL 36.000 MAX. ACTUAL 36.000 MAX. ACTUAL 36000 MAX. ACTUAL —»] VERTICAL -
LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
CROSS SECTION
OUTSIDE OF SLEEVE WIDTH
125 TYP,———wmt=— 1= 125 TYP,
T0 0.375 UNLIMITED LOUVER OPENING WIDTH T0 0375 -
ELEVATION
N\Drawing\LOUVERSIAMCA\ 605WDR\ISO5WDMBOSWDM 216 X 120 FL. Sleeve_TDIdft
H J K L _}

A

B

C




- _ ~ =
o WAMSO9 s,
ONIOMA1 I NNOW FTONY SNONILNOD P2/ .......&w
) \ltl&l-ll-!l'llllnlll-_l.—ll-\w
12 40 G LTS SRIWATNANSOOT | 2 ST NGAE 2
TUL | B¥% ixe
| X5 s
SIN TS 020Z/2/11 “31¥A | 980e-065-182 Xv4 Z411-065-187 “TaL e e e 0 o, Ve £
BE0LL XL 'UCISNOH POOY PISHUIN 715 4 -~3\w~.um.wﬁ s
UDLINOISYIN 'AG YO | SOUILIOO) AG NMQ | -ouy sorsmp sojen B

ELEVATIO

(@
(&)
1‘!“.“‘\‘.\.‘“\\.\l‘.\\“"I‘““"‘“‘““\\“““\‘h\““““‘l AN
: w
g @
o
e i
N P
=l s 2
[ ]
0 5
N O < I
S > =
==
o
Qi
33
| 82
o L
2
]
=
Q
<C T
=
Q
g2
o
Qu
g5
© O
o _1
foeas
s *
i
<C
5
[
(&)
SE
20 T
== =
o £
33 o
OO =
_| 0 - ]
= &
(&)
o
wd
ooy 4 W
(@]
& —
= 2
5 =
SE 3
Qo =
W = o}
[n
j=gv]
83
O
o
—
<t
D
f—
(@]
SE
o
& ==
53
[(o¥&]
@ . = » 3
I 19
j-
ooe _ m
[TH o
L i - O
W 2
2 o]
S s
5 2
%o
= £
| . ok
Qoo =
S < REE
ST l I % o M=
gLy T {
L o . »
LHOIEH Y3ANOT TYNLOY XYW 00002
G/E0 0L G/E0OL
—ta—"dAL GCI’ —m—dAL GTY
1HIEH ONINZHO H3ANOT

NADrawingLOUVERS\AMCA\ 605WDRI6O5WDM\ 605WDM 216 X 120 FL Sleeve_TDLdft




" |

<

™ _ ~ w0 ~
STy,
: WAMG09| IY13a TS 8 AvaH SOOI s,
o onond  INNOW FAFTTS E5 e Y,
e K
240 9 L3S o eooL. | T
mm>DOI_ —\LQZ@O@- “nInlulllIllllll-IIIIll-%l&Ir-“
UL | B % ind
00. cs’ frd
SIN F¥0S 020Z/2/I1 3LYA | 980e-085-182 Xv4 Z111-065-187 3L gy . .&W o, /\&m.......
- - BE0LL XL 'UOISNOH PoOY PISUUIM ¥/t A oy v“fm..g.wo\w@;nq
UDLINOISYIN “Ag MHO | SDUILIODS *Ad NMA *ouj saLgsnpuy JojieN ﬂdﬁ#ﬂ#f?f?f.ﬁ?

/1B HED DETAL
o)

®

@/

3
\

)E

£

<o

£

4969

2

@

v

!

)
/s

AN

/28" SILL DETAL

\

A\N

\

—
L
L0
o~
w
re @ 2 - S &
SRE ® @ @:: ©@0® @
2 ®
> O @ SEX @ @ @
T @ @umo e
22 ® ® O i &
T -
P S =
Q=T o™ = &
- — —
BHES y— T 1 X
Soiz o
5584 Homh - Ay
rr=i &) s o v B o TP
ﬂHOR - % % 5 S
2oL 2 = d 3 E g2 3 8 ot
S0 O :@ N~ NER ~ ) 18Kl
MMWD o 4 o~ m ~ =i
CERE o J 22 Gug 1
: dlis S sE . usy N
8 im@ s ExBia? ) amimi|
5 © SEzHES SH
© wswwmw -
o L (&) <t W s =2
5 ® @ BEpeEs o E
_ 199] z BRZCon = o w
T WW.O& @ _ 2 =zb
oszI L, S5F
Yo Bt e B Y 53 o5Z
= /- ) — ) — g Bz ®=5
: &\K\\s\\ 7 \ &
8 = © o
= /a 7L /a [ /a V\\ @
| i ] I}
mw 1 — - | — 0
< =

BUILDING STRUCTURE/DEPTH MAY VARY,

/ 2R\ SILL DETAL

BUILDING STRUCTURES INCLUDED BUT NOT

LIMITED TO WOOD FRAME, STRUCTURAL STEEL

AND CONCRETE (BY OTHERSI.

NADrawing\LOUVERS\AMCAIBO5WDF\IBOSWDM\IBOSWDM 216 X 120 FL Sleeve_TDIdft

A\l L
& VAT N )
FoT /A —
& 8
I} W I}
i D © &g
® JAFFTS 40 3AISNI @
9G10 "LHOMEH H3AN0T WNLOY 9510
Gclo JA3TS 40 3AIS1NO 5210
0G0 0L dAL §T0Q ~——ter| | [— —{|[=—— 0G0 0L dALl G20
G/€0 Ol dAL G210 ———tmi e — e G/€°0 01 dAL GCI0
ONINNIH0 H3ANOT
— o~ (22} <t [*a} w ~




C D | E | E | G H | 3 K

A
c
MULLION ANGLE DIRECT MOUNT ISHOWN HERE AT B R SCHEDULE IS g o
HEAD} IS FOR SUBSTRATES WHERE MINIMUM N | R Slo| —
FASTENER EDGE DISTANCE CAN BE ACHEVED HEAD DETAIL SlE| N
BY USE OF HOLES IN THE MULLION END CAP. \2) FASTENER EDGE 215 )
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL SUBSTRATE LIMITED TO WOOD, *I DISTANCE =2 LL
CONDITIONS WHEN APPLICABLE. STEEL, CONCRETE [BY OTHERSL. S A213 O 2
Q EMBEDMENT 12 X [
{ . O N
! ] P 1 -
y Bz < 1000 @ ..
/ Y c| < L(-)
[t} ] = g |_
5 J = BRE SR | O
3 LA (& N
S , I elgl W )
8 @»; = .. E I
. T -—@ | Bt
= L« | o(wl ) |z
g i ® |5 o
= i s8] B
M g 29
—] °g —
< | 3000 DR 5 =
® ‘[§ 12/ 0C.& 6" EFB [ D
LT FROM w &3 o< |3
Jig TOP /BOTTOM £ 9y ==+
bk o 2% ) L L
o 3 O ()]
n g g ]
o ~ S| Joa
BLADE SUPPORT AND
= S Z BLADE SUPPORT ANGLE _. 223 === |-
& 8 / r;gET 5:60‘;'43 FOR CLARITY. g = g <C (N
] ~ £& =
5 2 o o L@ | BEX
> —
= : , ra:| 342 |,
T { ] 12" 0C. & 6" 8l — = Ll
FROM 2| L
@ TOP /BOTTOM (E =
It =z
B 3000 —~|
d ] [
o o e /® Py, 2
K o5 Kz 1
3 | @96E9&0 ST K Syl
S | S 101 "GN RE Y
= 20\ AT (o) T
P . kY .
- 5 2750 LD 2 EHE %‘ztg =
: oL =¥ igg =
9 201 128 B 0:09
T gy ¥V 0 T Sing
© I et 1ZE Woo
- 4| 1,000 Qht, 1OF LSS
an, .gp ol o X5 00, 3 E et E
} i T W ' @ i 8 R
@/ - T Mt
SUBSTRATELIMTED TO @ — 6
CONCRETE EXCESS MATERIAL BEYOND FASTENER | T
EDGE DISTANCE IS ALLOWED TO BE L
REMOVED [THIS LEG ONLYL. T
T REFER TO @
FASTENER SCHEDULE =
SHEET 21 OF 21 g —
m
MULLION ANGLE BACK OF WALL MOUNT =
(SHOWN HERE ATSILL] IS FOR SUBSTRATES o
WHERE MINIMUM FASTENER EDGE DISTANCE 9
T CANNOT BE ACHEVED BY USE OF HOLES IN a l
/ 4"\ SILL DETAL THE MULLION END CAP. DETAIL IS TYPICAL =<
7721 ~ FOR BOTH HEAD AND SILL CONDITIONS WHEN | <¢
NADrawing\LOUVERS\AMCA\ 605WDRIEOSWDMIBOSWDM 216 X 120 FL Sleeve_TDLdft l APPLICABLE. E
A B | C D E | F | G { H 3 K L N




NOTE: THE BLADE SUPPORT ANGLE (ITEM 10 IS NOT SHOWN IN THE
DETAILS IN ORDER TO IMPROVE CLARITY. THE BLADE SUPPORT ANGLE

IS ATTACHED TO THE BLADE SUPPORT BRACE (ITEM 6.

BLADE SUPPORT BRACEG6 ISHOWN) IS ANY OF THE DRAWINGS FOR DETAIL 6.

5 5 o

5lo| —

£ El N

%‘:_j L 1

518 ©| =

LT

O 0 ;

@ . B

sle] | O

ela | (o3

= L |g—

oW ) =

Z|5 o

O )

[

S 13 o —

% £% Lot Ll

.g%{\f => N 3
3

g 2% 2=

T TN D:

£ §E —1 o

83 >a |

= 93 o

S £ 25

<5 oW
GH O Ll

A B ©a |4
gl T <G

2 -
= m

&z}xxx}\\}uull -
&} iz 9o,
EC TR
For ig ngl 1S g
: ¢ B H %" ¢ w
9~ i § iz
Hu g imi g zizg -
#oi 18R Giza >
s ot 2 & 3
At ime © Oi08
A7 T R
o, 121 QS
Gy et =Bt —
i f R
Piedes™
1 6
/"6 BOTTOM BLADE SUPPORT DETAILL
)
/"5 BLADE SUPPORT DETAIL B
1Y
7
NADrawing\LOUVERSWAMCA\IB05WDF\IBOSWOM\BOSWDM 216 X 120 FL Sleeve_TDIdft
F G H L __l

A B C




o | N
WAMGO9|

‘ON 9Md

I 40 6 ‘144HS

STIVL3A gnvr

INNOW FATFTS FJAVEL FONVT

d3IANOTWAMSG09I

0coc/ent 41vd

UDNOISY “Ad MHD

SDURIOD4 A9 NMA

LIOSIO|DURMM

BE0LL XL 'UCISNOH poOY PIBHUIM 71 L7

980€-065-18Z X¥4 C.L11-06G-I18C T3l
"oUf SaLRsSNpuU| JojieN u E

5366 FILLER

ALOY

12517 I'@10" 0C.

@2) | PER BLADE BRACE

SPACING

@212"oc.

||

4.000:

/78" SUPPORT DETAIL

oy

5356 FILLER

ALLOY

125/ T@I0" OC.

OUTSIDE OF SLEEVE

L.375

f2" O.C. SPACING

—‘ 2 PER BLADE @ EACH END

/ 7"\ JAMB DETAL
@z

]

(42 @ 3-3/4"0C.

750 M

=T
ok

1SH3HLO Adl F134ONOD ANV

TIILS TWANLONYLS TAVHA QOOM OL QILIAIM
LON 1Ng 3ANTONI SFANLONHLS ONIaTING
AHYA AVW HLd3A/3ANLONHLS ONIaTING

NADrawing\L OUVERSVAMCALI6O5WDRI6OSWDMIIBOSWDM 216 X 120 FL Sleeve_TDIdft




9]
I
w“
~
-:

A B C D E F
S B oo
| —
S| v -
21| N
IZH .
= “:j L 1
59 ©| =
s o | 0O
. = -
SUBSTRATE LIMITED TO WOOD, 2lg| = LO
STEEL, CONCRETE IBY OTHERS!. =S
=19 '—___{._-J (O}F
> | = O ——
@ HoU |z
p=s o
z| S
o =
20
——{EMBEDMENT |=— L8 =
g x S 2
8 EDGE T e r
3 2% Ll = 3
DISTANCE @ £ 5% > L
REFER TO gz =2 1<
FASTENER SCHEDULE 3 g Sor
SHEET 21 OF 2| S E3 S<0
= =2 I
L (2) | PER BLADE BRACE 3 %§ = K Q
@ @3 oc. SUPPORT NOT ATTACHED =8 no=<
AT HEAD AND SILL AND TO = oZ
SUBSTRATE WALLI AS z; . oy
ALTERNATE ORIENTATION TO ALLOW IT TO "FLOAT" S 4
[CAUTION, BOLT CLEARANCE! DURING BLADE LOADING. s )
e 8
G
750 ' a0
\@ i ,ﬁki E H }/};\gtl’
e oo S0 m
, Fo 1S IY,
! R R E I
@ 3 =~ s N %'-. )?g
AT i D1 =g
| @ b - . wz o E H
| 4014 5 e iz
o -k ims B 003
% e 1 om a 9 & &2
| G izl Yiog
G, Q5 WSOS
f 110..‘ :ﬂ:: .c""{,{}' —
i zt * -..: E :‘- ?S) ﬁ?
7‘\_ @ l I lh,t‘k: H ?.\7'5‘
% / L N T
] - e - |
« : = » i '
126 TYP, TO 0375+ {=— '\@ ' 4000 ! / 6
«— ACTUAL OVERALL LOUVER WIDTH, —
ACTUAL LOUVER SECTION WIDTH,
l=————— OUVER OPENING -
/9\ JAMB DETAIL 10\ SUPPORT DETAIL
1012 1012 7

NADrawing\L OUVERS\AMCAI605WDRI605WDM\ BOSWDM 216 X 120 FL Sleeve_TDLdft
B C D E F

A |




A B C D E F G
5 3 o
| —
S| v -
g 1 N
K7 .
= é L 1
S8 © | =
® © % — [
@ . = -
\ o= | & % (ORF
> | o —
48a960) - o | L V) |=
15 &)
=
{f § . =
L. [Se <o) Z
Qo
= X :OD
{1 J § @
{ E £ 9 =
g ¢ 58 G |3
S SEE
(1 173 o b
3 L Lo
@ e T gy SoA
| A
3 59 odo —
2 Eg = -]
¥ k&S
. X o
42 @ 6" 0C. ® @12 oc. o cot}
. ©
1.l zxg " % 4
i 2
/@ = [
RSELY —
- ST \é}u‘lz
SaFZE,
SoM 128 Y,
;f;?.' w 3L %;'. () {) (3
g0f\ Aot g i29s ~
Q@3 8 ol B 3 $ A
Au.t sida E 127 By
@/ L3 " a % 5 O8 )
{oo % G ST
5 sME T S
LA AAN 2zt So8
%YA‘.... 2 O H & "(/‘“’
: U e S S
- Ay 33201 S
N\ \ Wiranese®
EXPANSION JOINT OF UP TO 0.25 MAY 6
BE USED ON LONG OVERALL WIDTHS.
Gy @' oc. (7
ACTUAL LOUVER SECTION WIDTH ——=t=———— ACTUAL L.OUVER SECTION WIDTH -
ACTUAL OVERALL LOUVER WIDTH
11\ MULLION DETAIL 7
1721
NADrawing\LOUVERS\AMCA\IGOSWDFIBOSWDMI BOSWDM 216 X 120 FL Sleeve_TDidft
D | E F G L B

A B C




A B c D £ F G H 3 K | L
5 g o
| —
3 v -
g1z N
2|
= ‘é L 1
515 © | =
e
30 & N [
o ..
S|
2 f SUBSTRATE SIS L O
ola | Lol
N - flel W) ©f
> | o
(48/49/60) o U |E
i 29C z |5 5
483960 =12 =
- = }250 -| ) =
D ©
REFER TO 7/ = 2D
FASTENER SCHEDULE (®) f IQ (®) @) @) 3 RS E
SHEET 21 OF 2| O Y = O S8 =
£ Ry o
RS (@) (@) @) sss | HE24 |
[ i) A A SUBSTRATE | € 4 3 <
8 a 0 | i) 2625 | 3625 T £ 8% > L
(@) (@) © T £25 | R4
@ p - - 1500 g Bp S2 &
o -~ oo ¥ o , 1 HIEEE
Of0 : 2| 352 -
—— _ 2 EL
( C L o=
: 42).@ 6" 0C 3k ©F =
4?2 @ 6" 0C. C. &k . —% 4
: : E§ é 8
= § =
=
18 5a) ==—— RN B
, SR %
—® O Sakiziia,
o d % @ 0y /2 2
& S O3 MON
,_.,_\3.'..-' L LR W2
gaxd # AT QA B
2§ =R AY! =
& H < =
;3 wf AT E: = fj T
¢ oi D B Siod
(’ [4 [ oo el 4
Y B (3 Wi [
(f\» % B =r O
l?\/é—"n, ek .-'.Q(/O os'
G 00y, BES KIS
Il Oapel S 30 %O Wt
\ it e
@/ @/’ Maade®
7 EXPANSION JOINT OF UP TO 0.25 MAY 7 EXPANSION JOINT OF UP TO 0.25 MAY 6
BE USED ON LONG OVERALL WIDTHS BE USED ON LONG OVERALL WIDTHS
4?9 @6" OC. 42) @6" OC.
ACTUAL LOUVER SECTION WIDTH ; ACTUAL LOUVER SECTION WIDTH ACTUAL LOUVER SECTION WIDTH i ACTUAL LOUVER SECTION WIDTH
ACTUAL OVERALL LOUVER WIDTH ACTUAL OVERALL LOUVER WIDTH B
MULLION ANGLE DIRECT MOUNT ISHOWN HERE AT HEADI IS FOR
SUBSTATES WHERE MINIMUM FASTENER EDGE DISTANCE CAN BE MULLION ANGLE BACK OF WALL MOUNT ISHOWN HERE AT SILLI IS FOR
ACHIEVED BY USE OF HOLES IN THE MULLION END CAP. DETAIL . SUBSTRATES WHERF. MINIMUM FASTENER EDGE DISTANCE CANNQT BE 7
IS TYPICAL FOR BOTH HEAD AND SILL CONDITIONS WHEN APPLICABLE.  /T2AN MULLION DETAIL ACHIEVED BY USE OF HOLES IN THE MULLION END CAP. DETAIL IS
5% TYPICAL FOR BOTH HEAD AND SILL CONDITIONS WHEN APPLICABLE. @Bz\ MULLION DETAIL
NADrawing\LOUVERS\AMCAV BOSWDR\IBOSWDMI 05WDM 216 X 120 FL Sleeve_TDLdft
A B c | D E F G H | J K L N




-

A B C | D | F G H | 3
SUBSTRATE LIMITED TO WOOD, REFER TO é g m
STEEL, CONCRETE (BY OTHERS! | /13 HEAD DETAL (59) FASTENER SCHEDULE /15" HEAD DETAIL S5le| —
NED, SHEET 21 OF 21 NER elz| N
=19 L 1
D 5350 FILLER e eee | =4
0, ALLOY : DISTANCE =13 O | =
@ JAMB & @ @6" 0.C. @@@ @ @6" 0.C. 6" 0.0 [aa N BV
/ ! o —
} I (\Il/ [T 10‘06 f g S| = L0
) i (] T S 1o
| P | NI L (@8, 9@ 1ETIR=
L | o |1 Mol & | odm YIm® . SISl £ V9P
L ™ LA — N -3 o=
: At le - LA oo Blp| O
= @\ L | Kt_ @’j % f[ B ]\ ‘\\' =9 g
% bn\ /[ \ﬁ ~:| ﬂ L1 g LI _Pt\ \\\ ® ()
" LN 29 S L AN N 83
= L K sl U ~d 28 oo
X [ \ sx8 | a>Z
L m N L ,"n\a\ O £ EE %HS—EJ
] n ] N 8 g8 g =y b
AT O | “\ ] | =2nw
5 2 o r = _J
- N[ - BBy | wWwwda
L L &) U [y = > = £
|| J 3 | 858 | 2230
T /Lgﬂ/ = é LUK 3 2w Ooxrw %
o & f 5 2 LA £r | 22
Z 5 o 2 L] ﬂ < Swo o
2 3 ‘ B3 AT - ® 58| QQZD
° 3 A & 3 K L Aol PN o<z |4
5 8 TN | 5 AN 0 [ JJERs
= /_[_ ||| 12020 owvpeR /_[j\\ pe | F
W || R L 8
‘[‘ }@ 4[ n\ :] U //’/@ ‘55}:0 '*‘..o-: 6 ?“‘“flzl/(gbfg
AT 7| AT lly ATt )
LT AT ® LTINS
u '/' @ @\: |11 f"i ._JIN (’01045 L
L I & 2 NC | gl [ gusi RN E S
/\YK jb D 3 |l @6’ oc oy Voidi © 958
0 L | \ | ol o < | p 48149/60) 1,\’{./'-.,' “i51 oS
3 U /@ { \ “ o /@ - @ & 2.7501 ) 12%9 ;.;%..?vq\ég—
o] 2 b g
2 LT ’ f LS o) 5 0 O © R SRR
- <] ) @6 0C ' ih b | || 1000 P
z o N [ =/ :
‘ o orf— | e N 6
‘ h, h E‘E)O @2 @soc. 50
* \ e “c:;\ I @@
ifngFILLER 1257 1-10° I
REFER TO
T — :
LOCATIONS SUBSTRATE [BY OTHERS SHEET 21 OF 21
BUILDING STRUCTURE / DEPTH MAY VARY. I 7
BUILDING STRUCTURES INCLUDE BUT NOT 12\ SILL DETAIL /18" SILL DETAL
LIMITED TO WOOD FRAME, STRUCTURAL ER 1372
STEEL, AND CONCRETE (BY OTHERS!, \EZ h &
NADrawing\LOUVERSWAMCA\IB05WDFIE0SWDMIBOSWDM 216 X 120 FL Sleeve_TDLdft [
B C | D F G | H | 3 L N

A




1SY3HLO AG)
J13HONOD ANV TI3LS VHNLONdLS
INYHL GOOM OL d3LINM LON LNd
3ANTIONI STINLONYLS ONT NG "AHVA
AVA H1d30/35N10NY1S ONIATINg

~A2 pb\vmﬁ
fﬁﬁvaﬁ@
S5 UNO ey,
g —\Am_gm o @ _ IVL3A NOITTINN ANV gAYr u.mw.m,/a/k\\vwzmo\%%,wwwﬁ
ON'OMG] INNOW ATTTS IV 30NV | 7 Case” 5%
. HAdWYA / 43ANOT NAMSGO09I mm..m..................m_..ﬁ“
| 40 ¥1 - Ld3HS 2" NvovH TENG NOYAS, &
ﬂ\m (e CL YL LI L) ~
UL | Ry .v, &
% - TSRS
SIN TS 020Z/2/11 ALYA | 9808-065-187 Xv4 Z411-065-18Z “TAL M e maw &* o, % e &
: . ‘ BE0LL XL UCISNOH POOY PIBLUM 11/t -~%E@H...m.w¢vlku«
UDLINOISYN *Ad MHD | SDOUILIOD) :Ag NMA *auf saLpsnpuy ojieN ﬁﬂﬁ#ﬁ#ﬁ?f(&?
® ®
© @) g
pung
5 |
o -
o- B
® & -
® | & 5 R 25 8
® g
O £S5 &
) J A S 2 = "
./ D00, Omn 2u 9
= N
g8 3§ 3
. T O 40 s 32 =
® g ° © rog
¢ V% o e
“——v0 o = <
T z 2
@] 5 2
nqun_ <C
|
J w
S
s
)
2
[
An% m 080G |
283 = SiE | i
522 @ , SIS g
) [&} o] T o )
0/@/ wﬁ@/zwwwmm
5 © & g wEz Eo g 8
= < S o W3E #EZ = >
g ® S =1l & £ w38 52 3 g
V o u@ = & do Fa © N =
Ww [aV - 0 wed 70 == g
g ™ s a§s 23 I 3
= @ >~ S 233 23 3
— =S5 = 3
= U= | o _ T _ :
@
I F - 1 e m
N S i f ] 2
N~
1 (o]
S @ (=4 M
o &=
- 3
w0 o
& =
i g
g
8
=




A B C D F G H J
5 g o
Slo| —
21| N
iz
= ;j L 1
513 ©| =
£ o0 | O
. = -
Slo| 1 | O
E= —
slel | O
glg| W | ©)
© 2BV
< o
515 E
REFER TO @)
FASTENER SCHEDULE (19€99 )
SHEET 21 OF 2| ©, 2 28 o=
] /. ¢ =3 a 5=
| ' I/ o] =29
«©
o QQ E:g (196 848 522 |
o -~
REFER TO 0D (@) Oy / 2 mw xro Qo
FASTENER SCHEDULE H H? £ gt § = —
SHEET 21 OF 21 «—TEMBEDMENT - O @H b@ 552 S<= |
O H . O 529 < % =
; @ (@) OH11Tro £8 or=
EDGE | = o 3 2Z
~
DISTANCE @6"0C. @6"0C. @ l:i - SE@ .
e | A 1 Zz =
sl LS =
21 ©
" g >~ O
ALTERNATE ORIENTATION ~— 4D @6 oc. g; =
(CAUTION, BOLT CLEARANCE]
@3' 0L 42 @6 ocC L
] 220 MMy
@ B e y tR
&y Kz g
Jo Cim SRz,
T 1@ 0
R G e LR 7 Ky
SUBSTRATE LIMITED TO WOOD, nE e Bt PRSL BN |
STEEL, CONCRETE (BY OTHERS!. N =i R %’:42 N
] ) & s = T
?O*.. ims 8 0i0] =
@\ i) % B a \-7 3 &
[ ANERT-HEET "
L AN "'z{&"« 2t T
%805 e o
W yiol o
Pasee
0375 ACTUAL OVERALL LOUVER WIDTH, 7 EXPANSION JOINT OF UP TO 0.25 MAY
125 [TYP, TO 0. ACTUAL LOUVER SECTION WIDTH 43 @6" OC. BE USED ON LONG OVERALL WIDTHS. )
LOUVER OPENNING — ACTUAL LOUVER SECTION WIDTH -=t=—ACTUAL LOUVER SECTION WIDTH —
ACTUAL OVERALL. LLOUVER WIDTH
/197 JAMB DETAIL -
\15/2) 20™\ MULLION ANGLE DIRECT MOUNT DETAIL
NEE
7
NADrawing\LOUVERS\AMCA\| B05WDR\IBOSWDM\ BO5WDM 216 X 120 FL. Sleeve_TDIdft
C b F G H J L
_!

A B




-

A ] B

C

A | B | C | D | E F G | H | 3 K
v LOUVER SILL 5 8 o
L OUVER BLADE @ S
LOUVER HEAD Sl | —
6063-T6 ALUMINUM - 6063-T6 ALUMINUM 6063-T6 ALUMINUM I § E C\l
(,) ..
| =4 L
080 2154 L 1938 E § o
080 2
- ¥ © | O
[l P (@] —_— ;
| ' 2 SN Te
(@]
h 4809 }—I 5000 g S }__
. 4809 - SR w| O
1100 260 —=| = Llal W o
090 250 BER) > | L o —
o I R HEL
r } J f £ = g
=— 2,000 2000 =
y 0 w©
OUVER FLANGE 1.500 J 3 g —
125 6063-T6 ALUMNUM 715 g o é
080 —={}=F | 9 5% =,
3932 | £ 8 LA g
5000 L—woo*—} » 6000 | 2 P 522
@ v ' 2 gy Sa S
-~ o=
| 2500 | @ 6063-T6 ALUMINUM v 552 = g % o=
~ @
i! . 6063-T6 ALUMINUM 6063-T6 ALUMINUM S £ 2 agk
25t | 8Z2SF
125 GH © — i
D | 250 e ww| =g
6063-T6 ALUMINUM S 51w L
= -
6063-T6 ALUMINUM
2500 |
. ! ASARRLY
_’1 I“‘25 | ..:&;N“u: s ?{tzl
125 = = VARIES | o It 5--..:‘.7\\7@333‘,
I ] T ) v o 108 O
1500 673 AT Y !
9, I ‘ 5052-H32 ALUMINUM saf LN 3}5
B_18 %
p— 00— abAEl)
1500 @ @ v 6000 9}\&"-., =t Sing
6063-T6 ALUMINUM Ber,, 191 .,,e";(é?g_
L OUVER SLEEVE _6061-T6 AL UM. ANGLE IQ;S’ oo o= B O
6063-T6 ALUMINUM *1 r.ZSO AR
= j=-.125 =188 ] 6
(@]
(@]
2000 1500 2500 | 4000 S
- 192} —
=
|+ 2000 - 1500 - — - — S
© _
LOUVER SLEEVE LOUVER SLFEVE L 4000 | Se 7
6063-T6 ALUMINUM 6063-T6 ALUMINUM MULLION MOUNTING ANGLE 4 THICK e
N\Drawing\L OUVERS\AMCA\ BOSWDFIBOSWDM\BOSWDM 216 X 120 FL Sleeve_TDIdft 400 X250 X 0.25X 3625 LONG B061-T6 ALUM ANGLE 5052-H32 ALUMINUM
D | E [ F G H | 3 K L N

ESER




A C D E F G
c >
270 1061 8 g o
665 Slow| —
— ~Tit=.06! °olZ| N
125 I iR
446 VAR;ES <id L 1
i S| =
>~
L 5000 i m 8 O 2
7
CLOSUER I N~ [
093 —= ©
. MATERIAL VARIES ALUMINUM '— Z —
—] =125 0
875 5000 O 5125 CIR| LO
| £ W | O
Slgl W O
DAMPER HEAD/SILL s | = j —
6063-T6 ALUMINUM oW U |2
Z Q
{ == S
JRSEDI— D o
—_— a9 —
1000 DAMPER B ADE & prd
6063-T6 ALUMNUM 3000 6 <8 3
DAMPER JAMB £E% o
6063-T6 ALUMINUM 9 £% E a i n |3
RS . LL]
i | 223
gy | 1529
1890 ™ 550 =2=F
—l 588 | @ % _
2tz | =&k
N 0 = ) n e
’ = oI
| 6000 =l. Y S~ ©sy o
- . —
6061-T6 ALUMNUM | gy ¢ = 0 4
5 | wl
LOUVER BRACE 5 | Ll .
@ SUPPORT CHANNEL l/4" THK GUSSETS E§ = v
GUSSET SUPPORT
SUBSTRATE EDGE A 4 TRANGLE 6000
' 3000 ' ONE NEAR EACH END JRECLLLEN —
7116" THK ANGLE o
v a ) i Fhoxiziie,
N\ / \ | St ol
= O O KNURL PIN INEENGR SOt S\
(] P"‘f 8 189 ﬁ (D". <L, -
DAMPER BUSHING S Sut i 9 FiZ8 [
MATERIAL VARIES I = 2 |95} 221 8 8id —
i = AN P BN 2Y
. . . . . <t }\/A".‘. T el &0 &
@ Y @ @ @ @ & 1 ’11‘(&'%-. il .-~'°é§<‘<’§_
MATERIAL VAREES 3 Q‘ll yrm ot
S 9 N TR
== KNURL PIN . P
@ PIN [IJ'/ _ ‘ , : : \ 6
MATERIAL VARIES \ - 6 & & - H SUBSTRATE LEG
(] F 3
M:: | 5000 J— 5000 i 5000 l 5000 §
] \ L B -
N BLADE STOP ! 22000 !
- 112" DIA HILTI KWIK HUS-EZ ANCHOR
STAINLESS STEEL 3000 USE (101 172" HILTI KWIK HUS-EZ
@'. VE SIDE DAMPER AXLE ASM 4-1/4" EMBEDMENT 7
R AMPER AXLE A 5" SPACING (HORIZJ / 3" SPACING IVERT
MATERIAL VARIES ASTMA3G 3" MIN. EDGE / END DISTANCE
SPACING AS SHOWN
NADrawing\LOUVERSAMCA\I 605WDRIBOSWDMBOSWDM 216 X 120 FL Sleeve_TDIdft ASSUME: fc' = 4000 PS! UNCRACKED CONCRETH
E F [ G H J K L N

A

B

| c | D




m
il
2]
Jund
(=}
=
-:

tif=f=2

I h “-W\.wgg

A B C D
e >
ie} &
I/4" DIA LAG SCREWS ANCHORS: (/4" THK GUSSETS LOUVER LEG sle|l =
SUBSTRATE EDGE GUSSET SUPPORT LOUVER LEG SUBSTRATE EDGE 114" THK GUSSETS ol E QN
. 4 X 4 TRIANGLE ) GUSSET SUPPORT @ |
[7/!6 THK ANGLE ONE NEAR EACH END /— 7/16" THK ANGLE 4 X 4 TRIANGLE 6 %: 5 |_|_
ONE NEAR EACH END > 5
=k i — o7 ' 515 @ =
USE (161 1/4 " DIA X 6" LONG o o X 00) (A
STANDARD HEX LAG SCREW &} et ;
6" FULL THREAD ENGAGMENT ° o °o o o <L —<|> ° . o 0 o o o A -
" MIN. EDGE/END DISTANCE @ ® SR IPS ..
2 Lo
SPACING AS SHOWN TYP. I - ™ - % N Lll_J >
ASSUME: SPRUCE/PINE/FIR, SG=0.42] o ° o o ° o +1 SUBSTRATE LEG ° o o o o —i~-- L o |l N
< 35— 30 -+t 30 +|=30 =30 =}=30 =35 = & o7 | 7 e 7] & SUBSTRATELEG | © | & | O
| RS T U o | = I )
e O
m | i
5 2E ) z
2 22 =0 =
USE 1101 /2" DIA HILTI KWK BOLT TZ 29
3-5/8"EMBEDMENT & =
7" SPACING [ HORIZ 1 / 3" SPACING [ VERT. ) 6 =8 %
3" MIN. EDGE DISTANCE EES o)
SUBSTRATE EDGE 1/4" THK GUSSETS LOUVER LEG 4" MIN. END DISTANCE g § g & =
3/8" DIA LAG SCREWS ANCHORS: 6 THK ANGLE SLi(SiETTRﬁ\%PL%RT SPACING AS SHOWN s 3% o
t_ 5 ul
ONE NEAR FACH END 6 WSSUME FC' = 4000 PSI CRACKED CONCRETH 23 ==
£ gE ==
- g T . 252 |  Buw
2z
USE (121 3/8'DIA X 6 LONG o Sl SE
STANDARD HEX LAG SCREW =8 o
6" FULL THREAD ENGAGMENT ° ° ° ° ° ° i e i‘ g g O
I-1/2" MIN. EDGE/END DISTANCE ——3 275 L ® 5 S = s
SPACING AS SHOWN TYP, 4» ~_ | A B " Q
ASSUME: SPRUCE/PINE/FIR, SG=0.42 ° ° 0 o + > SUBSTRATE LEG ]
35 =5 ——fe——5 ——~fe—— 5 =35 ] ~ EE = o
1 =
x\\\\‘;‘.\,
2 SN o
LR I AN
5% BQOE M,
ATy IR
114" THK GUSSETS [-INT I trd
LOUVER LEG SUBSTRATE EDGE GUSSET SUPPORT LOUWVERLEG | g1 H =t %1, %
1/4-20 DIA SS. ELCO DRIL-FLEX ANCHORS SUBSTRATE EDGE gﬁng{TK gggggg% 7/16" THK ANGLE g&;‘&ﬂ?gﬁéﬁ END 6 ?.oi : Rt 2 o
B
7118" THK ANGLE 4 X 4 TRIANGLE / @“\%’_‘-..ﬁ X g%': “’
[ ONE NEAR EACH END = ‘ C Y, b AWK
\ I ™ lilh* "E m3 ?Q;:w
a ” P
USE {141 1/4-20 DA S.S. ELCO DRIL-FLEX @ ° 0 ° o ° o 0 o {» ' LYRREEC
FULL THREAD ENGAGMENT o 6 6 6 6 o 6 o e i _,] 275 |__ @
(" MIN. EDGE/END DISTANCE J J - VP ™
SPACING AS SHOWN 295 ™ o o o i, 1Y\ N
ASSUME: l/4" STEEL 1A-36) =2 . . i . ][ I~ =35 -mf=— 55 ——fe—5—fw-35 | L SUBSTRATE LEG
N R T ! 5 i 5 ; S Y O I SUBSTRATE LEG |
1L
22
22
5/16-24 DIA SS. ELCO DRIL-FLEX ANCHOR
USE 1121 5/16” DIA. 5. ELCO DRIL-FLEX
FULL THREAD ENGAGMENT
" MIN. EDGE/END DISTANCE
SPACING AS SHOWN
NADrawing'LLOUVERSAMCA\I 60SWDF\605WDMI B0SWDM 216 X 120 FL Sleeve_TDIdft ASSUME: 174" STEEL IA36!
G H J K L

A B C D E F




A B C D E
5 Z m
31E| N
§ YL 1
2|3 O =
28
/ gl = | O
: clgl | O
19l | Ol
== L 5=
o) (=
S5 J
& 5
£ 5% O
g BE =«
Eer | B3I
/ /A\ /\ N “aowm
5 23 S
' 2| 2=o
At = N <t
FHE 0= =
P 3=
=
=
=
2SNy, B
P I
£ i3Il
L R HEIRG
A EE Qo
2. i !E: a ‘”!Z‘:?
el 15 D Gizd
gwy @i 8 5704
NOTES: c}[\%s.__:sm PZ5 }.fgg
. OTHER SHAPES MAY APPLY PROVIDINGTHEY ARE ‘),;" o 5;...-'0<<%r —
SIMILAR TO THOSE SHOWN AND HAVE CORNER "‘m‘ A
CONSTRUCTION AS DESCRIBED ON ALL SHEETS. M
6
2. ALL. SHAPED L.OUVER PANELS ARE RESTRICTED TO
THE SAME PANEL WIDTH AND PRESSURE AS THE '
RECTANGULAR LOUVER PANELS AND BE STACKED
VERTICALLY AND HORIZONTALLY THE SAME AS THE —
RECTANGULAR PANELS.
3. WHEN SECTION EXCEED 36" IN LENGTH BLADE ,
SUPPORT ANGLES AND BRACKETS ARE REQUIRED.

NADrawing\LOUVERS\AMCAVI 6OSWDRIBOSWDM\IB05WDM 216 X 120 FL. Sleeve_TDIdft

A B C D E




A B C D E
BILL OF MATERIAL 5 Z m
INTERNAL Slw| —
MEM |7 DESCRIPTION MATERIAL NOTES § el
1|t | ce-20i LOUVER HEAD 6063-T6 ALUMINIUM 210 L 1
2 | coll9 LOUVER SILL 6063-T6 ALUMNIUM =2
3 | c6199 LOUVER JAMB 6063-T6 ALUMINIUM aly O 2
4 | €6-200 LOUYER BLADE 8063-T6 ALUMINIUM x - [
5 - - - © N
T8 ] ce-202 LOUVER BLADE BRACE 6063-T6 ALUMINIUM * ; B
7| ceI79 MULLION BAR COVER 6063-T6 ALUMINIUM c|Q l— @]
8 | 6169 LOUVER FLANGE 6063-T6 ALUMINIUM 19| L O
9A | CB-176 1112 X 1 1/2 X 1/8 ANGLE CONT. 6063-T6 ALUMINIUM | USED AT HEAD/SILL/JAMB, OF LOUVER AND SLEEVE S S Ll
21| 98 | ce-160 2X 2X 18 ANGLE CONT. 6063-T6 ALUMINIUM USED AS ATTACHMENT ANGLE = T QO |2
9 1 1/2 X 1 1/2 X 3/16 ANGLE CONT. 6063-T6 ALUMINIUM | USED AT HEAD/SILL/JAMB, OF LOUVER AND SLEEVE | ai N e
10| C6-161B 6X3X I/4 ANGLE 6061-T6 ALUMNIUM USED AT BLADE SUPPORT AND JAMB SUPPORT o s
[ /2 X1 /2 X 1/4 ANGLE 6063-T6 ALUMINIUM USED AT HEAD/SLILL/JAMB OF SLEEVE =@ =
— |2 4X 212X 114X 3625 LONG ANGLE | 6061-T6 ALUMINIUM USED AT HEAD! SILL OF MULLION ATTACHMENT
I3 4X 2112 X 114X 3625 LONG ANGLE | 6061-T6 ALUMINIUM | USED AT HEAD/ SILL OF LOUVER SLEEVE ATTACHMENT 33 =
14 6 X 4 X 114 ALUMINNM_SUPPORT SHIM | 5052-H3 ALUMINIUM USED AT SILL FOR SUPPORT ANGLE KZ 5%
15 MULLION STIFFENER ALUM 6063-T6 ALUMINIUM 1/8 FORMED ALUM CHANNEL USED AT MULLION £ o % o
3|8 FORMED SLEEVE 5052-H32 ALUMNIUM 1/8 FORMED SLEEVE - DEPTH VARIES w 53 0 s
I7__| B2-6i0 DAMPER HEAD/SILL 6063-T6 ALUMINIUM o >3 g <<
§eE | 235>
18| B2-609 DAMPER JAMB 6063-T6 ALUMINIUM E B8 E 8 ] % %
_ 1|18 |B2527 DAMPER BLADE 6063-T6 ALUMINIUM 552 =L |
20 DAMPER BLADE SEAL SILICONE / RUBBER TYPE MATERIAL VARIES 3 ew % =z
21 DAMPER TOP/BOTTOM CLOSURE ALUMINIUM =& o2 Sm
22 DAMPER BUSHING BRONZE / SS ::: ;_Ld 8 = — ;
==
.12 DAMPER LINKAGE BAR STANLESS re:| = s Lo,
24 DAMPER JAMB SEAL STANLESS E‘§ ':__!J - 2
25 NON DRIVE DAMPER AXEL ASM STANLESS = wn
26 DRIVE SIDE DAMPER AXLE ASM STANLESS
— 27 C6XB:2 STEEL CHANNEL USED AT BLADE BLACE —
28 NOT USED USED AT MULLION @-&““?&"{“\hl
29 7" X 21" ALUMINIUM SLEEVE BRACKET 6061-T6 MULLION SLEEVE BRACKET oy .)d‘,g Z 3“&'(’3*94}‘1
30 MULLION MOUNTING ANGLE BRACKET ASTM A-36 MULLION MOUNTING F& i..-"' HoHN N é’g‘,
5||_31_| c6-180 SCREWMTL,I0-24XIHEX goxd #EiTE %%; 0
32 | celsl 1/4 NYLON INSERT LOCKNUT 3’ ~§ it N oz E;
33 | c6-182 1/4-20x2-1/22 HEX CAP SCREW STANLESS 254 st % (Ejg 2
34 | c6-183 WASHERBONDEDIOXI/2 STANLESS 300 SERIES, SS COND. CW FY - 65 KS| ‘.3\» ¥ OiT : T Sios
_ || 35 | ce84 SCREWMTL,12-24-|--/4HEX 300 SERES, $S COND, CW FY - 85 KSI t’ia‘%)o I T R i
36 | C6-185 |/4-20x] HEX SCREW STANLESS 300 SERIES, SS COND. CWFY - 85 KS| 1’1& “enue 7""'.?9(( oy
37| Ce-186 1/4 COMML FLAT WASHER 300 SERIES, SS COND. CW FY - 65 KSI at{z‘ K: @ ?,.353'"
38 | ce-ls7 1/4-20x] HEX CAP SCREW 18-8 STANLESS e
o |[39_| co-is8 SCREW, MTLHEX, 8-32 X | 300 SERIES, SS COND. CW FY - 65 KS! 6
40 | C6-189 |  SCREW,METAL, HW,10-24 X I-1/2 300 SERIES, SS COND. CW FY - 65 KSI o
41 | c6-192 SCREW, MTL, HEX 8 X |-1/2 STANLESS 300 SERIES, SS COND. CW FY - 65 KSl 0
42 | €6-193 SCREW, METAL, HEX, 14 X |-1/2 STANLESS 300 SERIES, SS COND, CW FY - 65 KSI Y
43 | C6-194 SCREW, METAL, HEX, 12 X |-1/2 STANLESS 300 SERIES, SS COND. CW FY - 65 KS| <
|44 _| C6-195 | 1/4-20 X | I/4 HEX CAP SCREW 18-8 STAINLESS ™ —
45 | C6-196 1/4-20 FIN. HEX NUT [8-8 STANLESS s
46 | C6-197 1/4 LOCKWASHER 18-8 STAINLESS ~ S
47_| C6-198 SCREW, MTL, HEX 8 X 3/4 STAINLESS 300 SERIES, SS COND. CW FY - 65 KSI =Q
71| 48 3/8"16 X 2 18-6 HEX HEAD BOLT STAINLESS 300 SERIES, S5 COND. CW FY - 65 KSI = 7
49 3/8-16 HEX LOCK NUT STANLESS 300 SEREES, S COND, CW FY - 65 KS| 2
50 3/8-FLAT WASHER STAINLESS 300 SERES, SS COND. CW FY - 65 K5 >0
N\Drawing\L OUVERSWAMCA\ 605WDRIBOSWDM\ B05WDM 216 X 120 FL Sleeve_TDldft =
A B c | D E L N

Vil 225




A B C D E F G H J K | L
"EMBEDMENT DEPTH IS EQUAL TO OVERALL LENGTH FOR ALL FASTENERS. IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED BY THICKNESSOF SHIMS S & m
5|0l —
LOUVER MODEL I805WDM FASTENER SCHEDULE S| (N
woop [STEELSTUD| sTeel | coNRETE | oy | M | FASTENER TYPE 2| w L 1
JAMB ANGLE MOUNT FASTENER, WDTH <= 72 INCHES DIAMETER #Rad | OC SPACING | EDGE EMBEDMENT >§_ 3 O 2
X SG 042 LAG SCREW 1300 SERES 5S- COND, CW- Fy = 65ksil 14" | 3" 2" 2" mi R
X SG 042 LAG SCREW (300 SERIES 5S- COND. CW- Fy = 65ksil 3/8" | 5" 2" 2 X — 0
X 16 Ga. | ELCO DRILL-FLEX DRILLING SCREWS 300 SERIES SS- COND. CW- Fy= 65ksil 14" | 4-172" 2" 3 THREADS BEYOND SUBSTRATE © QN ; -
X A-36 | FLCO DRILL-FLEX DRILLING SCREWS (300 SERIES SS- COND. CW- Fy= 65ksi) 14" | 13-12" 2" li4 »
X A-36 | FLCO DRILL-FLEX DRILLING SCREWS (300 SERIES SS- COND. CW- Fy= 65ksil 5/16" | 6" 2" 114" 213 — LO
X-CRACKED Aksi HILTIKWIK HUS-EZ_** 14" | 5-314" 4 | 5/8" 19| L O
X-CRACKED ks HLTI KWK HUS-EZ_** 3/8" i 8" 4 | 5/8" olal O |
X |.5ksi HILTIKWIK ~CON Il+ 4 l 4-314" =172 I-3/4" = T | .2
X |.5ksi HILTI KWK-BOLT3¢ 3/8" | 8" 4 2-lj2" olw| (O |12
MULLION ANGLE DIREGT MOUNT FASTENERS, HEIGHT <= 120 INCHES = | & o
X SG 042 LAG SCREW (300 SERIES SS- COND. CW- Fy = 65Kksil 14 10 VARIES 2" 4 5|° =
X SG 042 LAG SCREW (300 SERES 5S- COND, CW= Fy = 65ksil 12" 6 VARES 2 2 P
X A-36 | FLCO DRILL-FLEX DRILLING SCREWS (300 SERIES SS- COND. CW- Fy= 65ksil I/4" 4 VARES 2 14" S8 L -
X A-36 | ELCO DRILL-FLEX DRILLING SCREWS (300 SERIES SS- COND. CW- Fy= 65ksil 5/18" 2 2-314" " 114" G >
XUNCRACKED ksi HLTIKWK BOLT 3-CS. ** 3/8" 2 4 7 2-5/16" £ ‘E% Ha
X-CRACKED ks HLTIKWKBOLTTZ ™ 5/8" 2 4 7 4-7118" 8 9y 0 7 5 3
MULLION ANGLE MOUNT BACK OF WALL FASTENERS, HEIGHT <= 120 INCHES B 2% 5 oD
X SG 042 LAG SCREW (300 SERES SS- COND, CW- Fy = 65ksil 4 16 VARES " 5" 3.« | DL
X SG 042 LAG SCREW (300 SERIES SS- COND. C- Fy = 65ksil 3/g" 12 VARES | 112" 8" SeE | A % L
X A-36 | FLCO DRILL-FLEX DRILLING SCREWS {300 SERIES SS- COND. CW- Fy= 65ksil 14" 14 VARES " 114" gy % =i —
X A-36 | FLCO DRILL-FLEX DRILLING SCREWS (300 SERIES SS- COND. CW- Fy= 65ksi) 5/16" 12 VARES i 114" 2EL | = e t;
X-UNCRACKED 4ksi HILTIKWK HUS-EZ_* 12" 10 VARES | 3" 4-1/4° =5 Lfo7 g =
X-CRACKED 4k HLTIKWK BOLTTZ ¥ 12" 10 VARES 3" 3-5/8" SE | © P
PN =Y 4
GENERAL NOTES: 5| f =
I.IT SHALL BE THE RESPONISBILITY OF THE ENGINEER OF RECORD TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE LOADS IMPOSED BY THE LOUVER(S). E (E = CZ>
=

2. THE 1605WDM WITH AND WITHOUT 2020 DAMPER HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC AND TEST PROTOCALS tas 100 A WIND DRIVEN RAIN),
TAS-201 IMPACT), TAS-202 IUNIFORM STATIC PRESSURE}, AND TAS-203 (CYCLIC FATIGUEL

(‘3
2
@
]
‘J
Z
P
!

3. MAXIMUM SINGLE SECTION SIXE IS 72° WIDE X 120" HIGH, 0SSN
4, MAXIMUM ASSEMBLED LOUVER SIZE IS UNLIMITED WIDE X 120" HIGH. e «kjf.g ZL9
5, SECTIONS OR ASSEMBLIES MAY BE STACKED VERTICALLY PROVIDING A SUITABLE STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS TO SUPPORT ALL LOADS TRANSFERRED FROM THE Z C?.-""i.,‘ o
LOUVER, ) ’g_ o ERE
6. CMU SHALL BE ASTM C90, TYPE I}, 2,000 MIN PSI GROUT-FILLED. g i He E
7. THE SLEEVE MOUNT STYLE LOUVER UTILIZES AN ANCHORLESS INSTALLATION METHOD THAT DOES NOT REQUIRE THE USE OF FASTENERS INTO THE SUBSTRATE. IT MAY BE INSTALLED IN ANY SUBSTRATE 401 : ) : %’
THAT WILL WITHSTAND THE LOADS TRANSFERRED TO IT BY THE LOUVER. NAILOR IND. DOES NOT DETERMINE THE STRUCTURAL INTEGRITY OF THE SUBSTRATE STRUCTURE. ﬁ;,“\ié_".,g , D%
8. THE CONTINUOUS ANGLE MOUNT STYLE UTILIZES A CONTINUOUS JAMB ANGLETHAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. IT MAY BE INSTALLED IN CONCRETE, CMU, STEEL, OR WOOD ACCORDING %\/d;"’%" 10 £ s
TO THE FASTENER SCHEDULE. NALOR IND, DOES NOT DETERMINE THE STRUCTUAL INTEGRITY OF THE SUBSTRATE STRUCTURE. 331 . 'kﬁ‘“ > ;-;;Q? =
w a Fron
z"h\{\m&x@ém

9. LOUVER ASSEMBLY IS QUALIFIEDFOR A MAXIMUM DESIGN LOAD OF +/ — 150 PSF.
10. LOUVER ASSEMBLY WITH AND WITHOUT 2020 DAMPER SHALL ONLY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE. LOUVER IS DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM AND THE

ROOM WILL HOUSE WATER RESISTANT / WATER PROOF EQUIPMENT, COMPONENTS, AND / OR SUPPLIES. 6
1. INSTALLER TO PROVIDE SEPERATION OF DISSIMILAR MATERIALS AS REQUIRED.
|2. THE DAMPER MAY BE OPERATIED BY A MANUAL QUADRANT OR BY AN ELECTRIC OR PNEUMATIC ACTUALTOR, THE DAMPER'S ACTUATOR IS NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN TiRMD

INDEPENDENT TESTING AGENCY. ENETRAYION
|3, FRAME CONSTRUCTION, HEAD AND SILL ARE SQUARE CUT, JAMBS ARE SQUARE CUT @ HEAD AND SILL. CORNERS ARE SECURED WITH (2} #10-24 x | 112 HW, BLADES ARE SECURED TO JAMBS -

WITH [2) #10-24 X | /2 HW, @ EACH END.
14, STEEL. / STAINLESS-STEEL/ ALUMINIUM PARTS MAY BE MADE OUT OF ALTERNATE ALL.OY THA HAS EQUAL OR GREATER YIELD STRENGTH.

15. BLLADE SUPPORT ANGLE AND BLADE SUPPORT BRACE ONLY REQUIRED WHEN ACTUAL LLOUVER SECTION WIDTH IS GREATER THAN 36 INCHES.
16. THREAD PENETRATION LENGTH SIGNIFIES THE REQUIRED LENGTH OF THE THREADED PORTION OF THE FASTENER INTO THE WOOD SUBSTRATE PROVINDING FULL CONTACT WITH WOOD. LLAG SCREW TIO CANNOT EMBFOMENT —» 7

BE CONSIDERED PART OF THE TREADED PORTION OF THE SCREW. LAG SCREWS ARE NOT TO BE INSTALLED AT WOOD JOINTS / SPLICES WHERE THE LAG SCREW COULD FALL BETWEEN MEMBERS,
** NOTE ENGINEER OF RECORD {EOR) IS RESPONSIBLE FOR DETERMINING [F CONCRETE S TO BE CONSIDERED CRACKED OR UNCRACKED.

NADrawing\L OUVERS\AMCA\IBOSWDR\I60SWDMIIBOSWDM 216 X 120 FL. Sleeve_TDldft

A B [of D




